k) uﬂ\) ey Claa)

82 +(-2) =
12 +10 =
(5P +(-2) =
(-4 —(=7) =
(3P =(=3)=
(—4)* +(-6) =
(-1)* 3=
702 —4 =
1—(=5) =

(~10)° — (~10) =

dayiil)
(-8) 7V —(-5) =
82 —(-1) =
(=5 —6=
20 +5=
40D 19 =
4+4=
2+ (1) =
32— (-9) =
3 -10=

(—1)* +(-2) =
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Ll (Y1) Gunl) Gl

LA

- REN NGB
. 127 63 ) 39 7
8 +(-2) = ) =Clgy) (-8) V= (=5 = 3 -3
1 +10=11 8% —(—1)= 65
. 49 24
5P+ (2= (5= (15) (-5 —6=19
113 _ 1
AN oy T 7 0 _
(—4) D=6 ="1¢ 2°+5=6
28 1 9 1
D) iy = 28t (D 4pn_ 2 _nt
(-3) (3)= 75 =35 40 +2=7=2
(—4)> +(=6) =10 4+4=38
(1) -3=(-2) 22 +(-1)=3
. 195 48
77 —4= (C739) = (F5g) 3°—(-9)=18
1-(-5)=6 3 —10=(-9)

(—10)°" — (-10) = 11

(17 +(2)= (D)
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